
https://www.geekcert.com/70-414.html
2022 Latest geekcert 70-414 PDF and VCE dumps Download

 

 

 

70-414Q&As

Implementing an Advanced Server Infrastructure

Pass Microsoft 70-414 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/70-414.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Microsoft
Official Exam Center

 

 

70-414 VCE Dumps | 70-414 Exam Questions | 70-414 Braindumps                                1 / 7

https://www.geekcert.com/70-414.html
https://www.geekcert.com/70-414.html
https://www.geekcert.com/70-414.html


https://www.geekcert.com/70-414.html
2022 Latest geekcert 70-414 PDF and VCE dumps Download

QUESTION 1

You administer an Active Directory Domain Services environment. There are no certification authorities (CAs) in the
environment. 

You plan to implement a two-tier CA hierarchy with an offline root CA. 

You need to ensure that the issuing CA is not used to create additional subordinate CAs. 

What should you do? 

A. In the CAPolicy.inf file for the issuing CA, enter the following constraint:PathLength=1 

B. In the CAPolicy.inf file for the root CA, enter the following constraint:PathLength=1 

C. In the CAPolicy.inf file for the root CA, enter the following constraint:PathLength=2 

D. In the CAPolicy.inf file for the issuing CA, enter the following constraint:PathLength=2 

Correct Answer: B 

You can use the CAPolicy.inf file to define the PathLength constraint in the Basic Constraints extension of the root CA
certificate. Setting the PathLength basic constraint allows you to limit the path length of the CA hierarchy by specifying
how many tiers of subordinate CAs can exist beneaththe root. A PathLength of 1 means there can be at most one tier of
CAs beneath the root. These subordinate CAs will have a PathLength basic constraint of 0, which means that they
cannot issue any subordinate CA certificates. 

References: http://blogs.technet.com/b/askds/archive/2009/10/15/windows-server-2008-r2-capolicy-inf-syntax.aspx 

 

QUESTION 2

DRAG DROP 

You need to configure the environment to support App1. 

Which four actions should you perform in sequence? To answer, move the appropriate actions from the list of actions to
the answer area and arrange them in the correct order. 

Select and Place: 

70-414 VCE Dumps | 70-414 Exam Questions | 70-414 Braindumps                                2 / 7

https://www.geekcert.com/70-414.html
https://www.geekcert.com/70-414.html
https://www.geekcert.com/70-414.html


https://www.geekcert.com/70-414.html
2022 Latest geekcert 70-414 PDF and VCE dumps Download

Correct Answer: 
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QUESTION 3

Your network contains an Active Directory domain named contoso.com. 

You deploy Active Directory Certificate Services (AD CS). 

Your company, which is named Contoso, Ltd., has a partner company named Fabrikam, Inc. Fabrikam also deploys AD
CS. 

Contoso and Fabrikam plan to exchange signed and encrypted email messages. 

You need to ensure that the client computers in both Contoso and Fabrikam trust each other\\'s email certificates. The
solution must prevent other certificates from being trusted and minimize administrative effort. 

What should you do? 

More than one answer choice may achieve the goal. Select the BEST answer. 

A. Implement an online responder in each company. 

B. Exchange the root certification authority (CA) certificates of both companies, and then deploy the certificates to the
Enterprise Trust store by using Group Policy objects (GPOs). 

C. Implement cross-certification in each company. 
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D. Exchange the root certification authority (CA) certificates of both companies, and then deploy the certificates to the
Trusted Root Certification Authorities store by using Group Policy objects (GPOs). 

Correct Answer: C 

 

QUESTION 4

You need to recommend changes to the existing environment to meet the email requirement. What should you
recommend? 

A. Implement a two-way, forest trust that has selective authentication. 

B. Implement qualified subordination. 

C. Deploy the FabrikamCA root certificate to all of the client computers. 

D. Deploy a user certificate from FabrikamCA to all of the users. 

Correct Answer: B 

 

 

QUESTION 5

This question consists of two statements: One is named Assertion and the other is named Reason. Both of these
statements may be true; both may be false; or one may be true, while the other may be false. 

To answer this question, you must first evaluate whether each statement is true on its own. 

If both statements are true, then you must evaluate whether the Reason (the second statement) correctly explains the
Assertion (the first statement). You will then select the answer from the list of answer choices that matches your
evaluation 

of the two statements. 

Assertion: 

You can manage VMware ESX hosts and virtual machines by using a System Center Virtual Machine Manager
(SCVMM) server. 

Reason: 

SCVMM automatically imports ESX hosts and virtual machines when you add the corresponding VMware vCenter to the
SCVMM server. 

Evaluate the Assertion and Reason statements and choose the correct answer option. 

A. Both the Assertion and Reason are true, and the Reason is the correct explanation for the Assertion. 

B. Both the Assertion and Reason are true, but the Reason is not the correct explanation for the Assertion. 

C. The Assertion is true, but the Reason is false. 
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D. The Assertion is false, but the Reason is true. 

E. Both the Assertion and the Reason are false. 

Correct Answer: C 
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